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ENGLISH VERSION
i (A)  Describe objectives of financial management. 10
(B) Explain meaning and significance of financial 10
management.
OR
1 (A)  Following is the Balance-Sheet of Siddhi Company Ltd. : 15
Liabilities Amt. | Assets Amt,
Equity shares of Fixed
Rs. 10 each 3,50,000| Assets 16,00,000
Reserves 1,40,000 | Accumulated
10% Preference share depreciation 3.00,000 [13,00.000
capital each of Rs. 100 10,00,000| Current Assets 7.50,000
14% Debentures of
Rs. 100 each 4,00,000
Current liabilities 1.60,000
20,50,000 20,50,000
Additional Information :
(1)  Average market price of securities are as under :
(A) Equity shares............. Rs. 16.
(B) Preference shares ...... Rs. 70.
(C) Debentures ................. 1a. 80,
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(2) The tax rate of the company is 60%.

(3) Cost of equity capital is 16% and the cost of
reserves is 1% less than the cost of capital.
Calculate weighted average cost of capital.

(a) Under book value weights.

(b) Under market value weights.

(B) Explain concepts of cost of capital. 5
2 (A) Following information is available for two companies : 15
Particulars Company - A | Company - B
Eq. Share Capital of Rs. 10 each 1.60,000 80,000
10% Debentures 40,000 1,20,000
Net Operating Income 40,000 40,000
(1) If cost of equity capital of both companies 1s 12%,
then find overall cost of capital of both companies
as per Net Operating Income approach.
(2) 1If overall cost of capital of both company is 15%,
then find out cost of equity of both companies as
per Net Operating Income approach.
(3) Give your opinion for the best capital structure.
(B) Write note - Types of Capital Structure. 5
OR
2 (A) State meaning, definition and characteristics of working 10
capital.
(B) Explain sources of working capital. 10
3  Following details are available for Hetswi Co. Ltd. : 20

Earning per share Rs. 10

Dividend per share Rs. 8

Capitalization rate 10%

3

If the rate of return 1s 8%, 10%, 12%, 14%, 16%, 18%, 20%,

22%

- 24% and 26%. calculate the market value of shares as

per Walter's model.
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3 (A) Discuss the functions or problems of Cash Management. 10

(B) Discuss factores of determination of Cash Flow. 10

4 A Company has a capital structure exclusively comprising 20
of 4,000 equity shares of Rs. 100 per share. The company
now wishes to raise additional Rs. 4,00,000 for expansion the
company has following alternative plans.

(I) It can issue 4,000 new equity shares of Rs. 100 per
share.
(2) It can raise 50% of equity share capital and 50% as 10%
debentures of Rs. 100 each.
(3) It can raise the entire amount as 10% debentures.
(4) It can issue 2,000 equity shares of Rs. 100 each and
12% 2,000 preference shares of Rs. 100 per share.
If the existing profit before interest and taxes are Rs. 70,000
and the tax rate is 50%, then which financing plan should
the company select so as to maximize EPS ?
OR

4 Write notes : 20

(1) Forecasting of receivable.

(2) Factors affecting to the size of receivables.

L)

Saxi Co. Ltd. is examining two mutually exclusive proposal 20

|
)

for new capital investment. Following information available
=

Details Proposal ‘A’ | Proposal ‘B’
Total Investments Rs. 40,000 Rs. 50,000
Estimated Life 4 years 5 years

Earning before depreciation

and tax :

First Year Rs. 12,000 Rs. 14,000
Second Year Rs. 14,000 Rs. 16,000
Third Year Rs. 16,000 Rs. 18,000
Fourth Year Rs. 22,000 Rs. 22,000
Fifth Year - Rs. 20,000
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On the basis of following which proposal do you select ?
(1) Pay Back Method

(2) Average Rate of Return Method

(3) Net Present Value Method

(4) Profitability Index Method

For Depreciation Straight Line Method implemented. Tax
Rate is 50% and Rate of Discount 1s 10%. Present Value at

the rate of 10% 1s 0.909, 0.826. 0.751, 0.683, 0.621.

OR
5 (A) Explain methods of Inventory Management. 10
(B) Describe factors affecting to the various levels of 10

Inventory.

N
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